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Chapter : Average

(1) Average age of a team having 12 players is 23
years. If the age of the coach is also included, then the
average age increases by 2 years. What is the age (in
years) of the coach?
12 TGS arel Ueh gt &t 3Hie 3y 23 a¥ &1 I
wfRreTeR T 31T ofY AT & SIeh B, o 3iteret 3mg 2
G STCh & | ITRveTeh & 31 (st #) fhee &2
SSCCGLO8AUG-S3 : 56
(a) 41 (b) 47 (c) 49

(d) 51

(2) In a match, average of runs scored by 7 players is
53. If the runs scored by 6 players are 121, 40, 26, 56,
37 and 48, then how many runs did the 7#player
scored?

T H9 7 7 [@enf3at & gann s=1v 97w & disirad 53
€1 IfE 6 TRSaT & g@RT ST 310 T 121, 40, 26, 56,
37 AT 48 ¢, At 7 J F@Sr & fohctet XT =TT g1aT?
SSCCGL10AUG-S1: 56
(a) 26 (b) 37 (c) 43

(d) 48

(3) A group of boys has an average weight of 36 kg.
One boy weighing 42 kg leaves the group and
another boy weighing 30 kg joins the group. If the
average now becomes 35.7 kg, then how many boys
are there in the group?

STShT & Teh Heg T AT 37X 36 TR 21T, B Teh STgehT
TSIEehT 91 42 Foh.2IT. § 96 Teg & Toll SiTell § T Ueh
3o ST TS HeT X 30 Foh.aT. 8, THg & M 81
ST | Afe g 1 e #3790 35.7 fh.am. B, o aopg
# fhde olsh 87

SSCCGL11AUG-S3 : 56

(a) 30 (b) 32 (c) 40
(d) 56

(4) What is the average of all numbers between 8 and
74 which are divisible by 7?
giIRAF I EhaEsi A TaFmg N 78

sz g

SSCCGL21AUG-S3 : 56
(a) 40 (b) 41 (c) 42
(d) 43

(5) The average marks of 10 students in an
examination was 25. It was later found that the marks
of one student had been wrongly entered as 34
instead of 43. What is the correct average?

T Q06T H 10 ST & 39 37 25 &| 916 7 Ig 91T
IRT foh Ueh ©TF & 3756 ITelal & 43 & TollT 34 & T H
o fpu e E | Ay Eer AT T
SSCCGL22AUG-S2 : 56
(a) 25.5 (b) 24.1 () 24.5

(d) 25.9

(6) The average of 3 consecutive even numbers is A. If
next 5 even numbers are added, then what is the
average of these 8 numbers?

3 AT I &I131 &1 3T A &1 I 31916l 5 957

FET3tt &t enfAer fohar SITar &, aY 57 8 TEAT3HT HT

aFarg?

SSCCGLO5AUG-S3 : 56

@A +3 (b)A + 4 (©A+5
(dA+7

(7) The average age of 24 students is 12 years. It was
observed that while calculating the average age, the
age of a student was taken as 14 years instead of 8
years. What will be the correct average age (in years)?

24 oAt &1 e 31 12 9 &1 F§ car g & ad
317G & 3Tichole] & HHI Ueh B 1 1Y 8 aY 1 S9TE 14
ay o 718 | wEr e 3y (at #) Fr g
SSCCGL10AUG-S2 : 56

(@ 11.25 (b) 11.5 (c) 11.75
(d) 12.25

(8) In aclass of 50 students there are 27 boys. The
average weight of these boys is 72 Kg and average
weight of the full class is 55.44 kgs. What is the
average weight (in kgs) of the girls of the class?
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50 BTAT T HET H 27 TS & | FoT AIehi T AT it 72
5311, & 3R & et 1 I aotet 55.44 6.3, 1 e
Fr orsforat 1 3itraa aoteT (F.am. &) Fr &?
SSCCGL17AUG-S1 : 56
(a) 42 (b) 48 (c) 30

(d) 36

(9) The average age of 120 members of a society is
60.7 years. By addition of 30 new members, the
average age becomes 56.3 years. What is the average
age (in years) of newly joined members?

Teh T o 120 Tewdl 1 iRt 37 60.7 a¥ &1 30 AT
T o 3T W AT 317 56.3 I BY ST &1 AT LM
U HeaT B 3 A (TS ) Fopeteht &7
SSCCGLO9AUG-S1 : 56
(a) 36.5 (b) 37.2 (0383

(d) 387

(10) The average age of a class of 6 girls is x years.
Four new girls having ages x— 2, x + 2,x + 4 and x + 6
joins the class. What is the new average age (in years)
of the class?

6 oTsTehaT hT weh hatl shr e 3mg x a 1 4 a7
ﬂgﬁm“f,ﬁﬂﬁ?:ﬂxfz,x+2,x+4ﬁ2ﬂx+6%',aﬁ
Tl 7 QTTEeT fohaT STTclT & | Tl ohr o7t 3 3y (ast

) FaT?
SSCCGL11AUG-S1: 56
(@x+1 (b) x + 2
2.5

(c) 2.5x (d)x +

(11) a, b and c are 3 values, suchthata + b =5,b + ¢
=7.5and c + a = 8.5. What will be the average of
these values?
3TEAWa, b csaTPRE fFa+b=5b+c=75
TJATC +a = 8.5 g 3T HEAT3T T A 4T g2
SSCCGL12AUG-S1: 56
(@ 1.5 (b) 3 (c) 3.5

(d) .5

(12) The average runs conceded by a bowler in 5
matches is 45 and 15.75 in other 4 matches. What is
the average runs conceded by the bowler in 9
matches?

T digaTel garT 5 A 7 fGd a1 3iHa o7 45 § aar
Heg 4 HT H 15.75 §1 9 At 7 digarat & gany fgw are
Jrad & fhaa &7
SSCCGL10AUG-S3 : 56
(@) 15 (b) 32

(d) 53.5
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(13) 3 numbers whose average is 112, the first number
is 1/6th the sum of other 2. What is the first number?

3 @A fSeTehT 3R 112 §, 373 dgell T T Al
3T 2 T o AT T 1/6 AT ST & | Tgell TEAT HAT
graf?
SSCCGL17AUG-S2 : 56
(a) 45 (b) 30 (c) 15

(d) 48

(14) Average of 11 numbers is 7. If every number is
doubled, then what will be the new average of the
numbers?

11 TEA3t AT AT 7 &1 I T TEAT I 81 ST,
ar FEanst & a3 3tad w4 grefr?
SSCCGLO9AUG-S3 : 56
(a) 35 (b) 7 (©) 105
(d) 14

(15) The average weight of 100 students is 32 kg. The
average weight of first 49 students is 30 kg and of last
50 students is 34 kg. What is the weight (in kg) of the
50th student?
100 STHET &1 A AR 32 foFar. €1 Tl 49 BT &1 3iad
X 30 fehal. & 72T 3{Tcid 50 BT 7 3T 7R 34 faha.
£1 50 d BT T AR (R, ) HaT §?
SSCCGL16AUG-S3 : 56
(a) 25 (b) 30 (0) 32

(d) 33

(16) The average weight of P, Q and R is 45 kg. If the
average weight of P and Q be 36.5 kg and that of Q
and R be 52 kg, Othen what is the weight (in kgs) of
Q?
P, Q 3R R &1 3iraa aotet 45 fhamr. €1 Afg P 3R Q &1
3 a1 36.5 fRar § 31 Q 3R R &1 3itdet ot 52
TRar. &, ar Q &1 aotet (fham. #) forct=T gram?
SSCCGL17AUG-S3 : 56
(a) 42 (b) 44 (c) 46

(d) 48

(17) The average cost of 5 items in a shopping list is
Rs 650. If one more item whose cost is Rs 1400 is
added to the list what will be the new average (in Rs)?

Glreey T aelt 7 5 T3 T 3T A 650 T 7|
T 1400 & HIFA aTell Teh R a8 Gl A STe ST 8, ot
% aH 3ad (3. &) Far g
SSCCGL18AUG-S2 : 56
(a) 775 (b) 875 (c) 725

(d) 825
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(18) A batsman makes a score of 81 runs in the 16th
match and thus increases his average runs per match
by 3. What is his average after the 16th match?
Ueh JololaTol 169 HT # 81 I ST & 3R 39 IR
351 3 3 8 9¢ AT &1 16 9 FT & a1 38T 3rad
FHATE?
SSCCGL18AUG-S3 : 56
(a) 35 (b) 34 (¢33

(d) 36

(19) What is the average of all numbers between 11
and 80 which are divisible by 67
11 3R 80 & g T @I Fr AT FATE SN 6 F
SSCCGL18AUG-S1:56
(@) 46 (b) 47 (c) 44

(d) 45

(20) The average of four consecutive odd numbers is
64. What is the value of largest number?
IR SITAR fawa T34t 1 3iad 64 & | e
(FITSTHE) TEAT T A AT £7
SSCCGL19AUG-S1: 56
(a) 65 (b) 69

(d) 67

(21) The average of 8 consecutive natural numbers is
38.5. What is the largest of these 8 numbers?

8 ShATIC TTehfcieh HEIT3IT T I 38.5 81 37 8
AT H A GIH T8 AT Dot 1 82
SSCCGL16AUG-S2 : 56
(a) 41 (b) 39 (c) 42

(d) 45

(22) In the first 45 overs of a 50 over innings, the run
rate was 5.8 runs per over. What is the required run
rate in the remaining overs to reach the target of 295
runs?

50 31TeRT T IR 7 gl 45 e H T ¥ 5.6 I Ui
3SR 7| 295 &1 & &7 I Tg a1 o forw AY 521 3eRd
 TTUTH I YT HAT?
SSCCGL19AUG-S2 : 56
(@) 6.9 (b) 6.8 (c) 6.7

(d) 6.6
(23) The average marks of 40 students in an
examination was 25. It was later found that the marks
of one student had been wrongly entered as 73
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instead of 37. What is the value of correct average?
Teh OI8TT H 40 BTAT & A 37 25 | 918 H Ig 9
T o Teh BT & 37 ATd FTH 37 F IAT 73 H TIH
got forw a1T § |EY 3T T AT FHAT 82
SSCCGL19AUG-S3 : 56

(a) 24.3 (b) 24.1 (c) 245
(d) 24.7

(24) The average weight of P, Q and R is 47 kg. If the
average weight of P and Q be 32.5 kg and that of Q
and R be 48.5 kg, then what is the weight of Q (in
kgs)?
P,Q 3R R &7 3 aotet 47 foRam. g1 IfE P 3R Q &7
3iraa aoter 32.5 foRarm 3R Q 31 R &1 3irad aot=T 48.5
fRaIT &, Y Q &1 ateT (fokarm. ) FaT 82
SSCCGL20AUG-S1 : 56
(@) 25 (b) 21 (c) 29

(d) 33

(25) The average weight of A, B and C is 49 kg. If the
average weight of A and B is 35 kg and that of B and
C is 62 kg, then the weight of B (in kgs) is?
A, B 3R C &1 Had oot 4 fham &1 afS AR B &7
3 aotet 35 fham g 3R B 3R C 62 foham g, A B a1
goteT (TR #) fohetar 82
SSCCGL21AUG-S1 : 56
(a) 47 (b) 45

(d) 49

(26) In the first 40 overs of a 50 over innings, the run
rate was 4.8 runs/over. What is the required run rate
in the remaining 10 overs to reach the target of 241

runs?

50 3TaR T IR F Uger 40 TR H & ¥< 4.8 /3R
7| 241 mé?amamqgaﬁa:%rw‘m 10 3RT A
1AL &t ot & fohestr gref?
SSCCGL21AUG-S2 : 56
(a) 6.7 (b) 6.5 (c) 6.3

(d) 4.9

(27) The average of 17 results is 60. If the average of
first 9 results is 57 and that of the last 9 results is 65,
then what will be the value of 9th result?

17 9ROTAY &7 319 60 §1 T w2rer 9 gRomaAY & 3itaa
57 & T 377 9 oRomH 1 3iaa 65 &, ar 9 3 gRume
T AT AT gram?
SSCCGLO5AUG-S1 : 56
(a) 39 (b) 78

(d) 156
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(28) A batsman makes a score of 111 runs in the 10th
match and thus increases his average runs per match
by 5. What will be his average after the 10th match?
Teh Feleidlel 10-d HT H 111 3T §ATT & 3R 39 TR &
U Ha H 386 A 5 T q¢ AT gl 10-THT &5
G, 35T 3iad T gt ar grefr?
SSCCGLO6AUG-S1 : 56
(a) 66 (b) 61 (c) 62

(d) 64

(29) What is the average of all numbers between 9
and 90 which are divisible by 8?7
93RO F T T aE i F HTTFIE N8 T
TS gi?
SSCCGLO6AUG-S3 : 56
(a) 53 (b) 52 (c) 51

(d) 50

(30) Average age of 20 students is 21 years. 2 students
leave the group and 1 new student joins the group.
The average now becomes 20 years. If age of one of
the student who left the group is 26 years and the one
who joined is 20 years, then what is the age (in years)
of the other student who left the group?

20 BT T 3T 3T 21 AV § | 2 BT HIHE BISH STl

ST § T 1 71 BTF §o # 3 i1l & | 37ad 3720
ag g1 STl & | R BIget et arell 3 & Ueh o7 6l 31y
26 aY § YT i Ueh Hefg U SfST & 3T AP 20 av g, o
TG IS dlel GAR T 1 31 (a1 ) FT 87
SSCCGLO6AUG-S3 : 75
(a) 20 (b) 14 () 22

(d) 16

(31) The average of 5 members of a family is 24 years.
If the youngest member is 8 years old, then what was
the average age (in years) of the family at the time of
the birth of the youngest member?

U IRER & 5 HeFdl 1 e 3y 24 ad B | oS we@

OIC TE T 41 371 8 Y ¢, o HeH BIC T T & oo i
THY IRER &1 3 3y (@t &) a7 o
SSCCGLOBAUG-S1: 56
(a) 16 (b) 20 (c) 24

(d) 32

(32) The average marks of 40 students in an
examination was 34. It was later found that the marks
of one student had been wrongly entered as 62
instead of 26. what is the correct average?

Teh GeTT 3 40 BT & 31T 31 34 A| 916 7 Ig grT
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IT Ueh ©TF & 37 ITld e T 26 & ol 62 3 &I H
gof P AT & | | 3iEa fraar &7
SSCCGL23AUG-S3 : 56
(a) 33.1 (b) 33.3 (c) 33.5

(d) 33.7

(33) The average of four consecutive odd numbers is
40. What is the largest number?
IR IR fawar Geansit & 3itad 40 1 faereas
&I i A g2
SSCCGL22AUG-S3 : 56
(a) 42 (b) 45 (c) 43

(d) 44

(34) In a class of 39 students there are 26 girls. The
average weight of these girls is 42 Kgs and average
weight of the full class is 48 kgs. What is the
average weight (in kgs) of the boys of the class?
39 BT & Teh g7 7 26 5T § | 37 Tsfhar 1 3iraa
gotet 42 3,311, 3R qut a4 1 3iied aeteT 48 f.am. 1
HETT o TSI I AR aote (Fh.ama ) Far g2
SSCCGL23AUG-S1: 56
(a) 54 (b) 66 (c) 60

(d) 62

(35) The average cost of 4 items in a shopping list is
Rs 1,250. If one more item whose cost is Rs 2,000 is
added to the list what will be the new average (in
Rs)?
TR hT it 3 4 3T T 3T o191 Rs. 1,250 &
3R Ueh 3R a8 38 I A SSY ST FSHHT Hold Rs.
2,000 &, A 319 3eTehr A3 3T (FIX H) FHIT el ?
SSCCGL22AUG-S1 : 56
(a) 1100 (b) 1500 (c) 1400

(d) 1250

(36) A batsman makes a score of 95 runs in the 13th
match and thus increases his average runs per match
by 4. What is his average after the 13th match?
13 &7 HT H T Teodrel 7 95 I 9 3R sq YR ufa
HI 3R R ATT4 BTG AT gl 13A AT H a1
3T 3T FATR?
SSCCGL23AUG-S2 : 56
(a) 47 (b) 43 (c) 45

(d) 49

(37) Of the 3 numbers whose average is 40, the first is
1/3 rd the sum of other 2. What is the first number?
3 31T T 3T 40 §, 3513 T TgolT 37eh 37T Glell o IIaT

T 1/3 &1 A IgelT 37k FAT 87
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SSCCGL20AUG-S3 : 56
(@) 20 (b) 50
(d) 30 Solving eq. 1 and 2 we get value of c(coach age)=49

)

Total run =7 x 53 = 371

Run by C players = 121 + 40 + 26 + 56 + 37 + 48 =
328

~ run by seventh players = 371 - 328 = 43

©)

Let total no of boys be x

-~ total weight = 36 x

Total new sheet weight = 36x — 12
New average =3:5:7

~35.7x =36x-12

x = 12/0.3x10 = 40

4

The numbers between 8 and 74 which are divisible by
7 are 14,21,28,35,42,49,56,63,70

Whose sum= 378/9=42

(5)
Sum marks of student +34 95

10

Answer Key Sum marks of 9 student =250-34 =216

216+43
ThEﬂ_. T =259

1 |Cl2 |C|3 [C|4 |C
6 [C|7 [C|8 |D|9 |D
11|C{12|B|13(D{14|D
16|A[17]|A|18(D[19|D
B[24|B
A|29|B
C|34(C

(6)
Let the numbers bhe 2,4, 6
2+4+6

21|c22[Bl23|Bl24
26/c[27(B[28]Al29 Avg. Tﬂi
31B[32|a]33|c[34 24+4+6+8+10+12+14+16

Then =
36|37 8

4+5=9

9

()

Student=24

Average=12

Difference in year=14-8=6
Difference in Average=24/6=0.025
Actual Average=12-0.25=11.75

(8)
27 x 72 +23 x=50 x 5547

Solution =36

(M
(X + X+

)
+x)/12=23........(1)

(150 x 56.3- 120 x 60.7) /30
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=1161/30=38.7

(10

6 girls = x

So N = 6x

Hence (6x + x-2 + x+2 + x+4 + x+6) / 10
Solving we get (10x + 10) / 10

Or x+1

(1

Adding all
2@+b+c)=5+75+85=21
worofy= /o =35

(12)

Total runs conceded = 5 x 45 + 4 x 15.75
=225+ 63

=288

Required average = 288/9

=32

(13)

15t Number 314 Number

-

21d Number

As per question,
_ ytz

6
Substituting the value of x in eq (i), then
y+z

—4y+z2=336

6
y+z+6y+ 6z

- =336
Ty+72=336 %6
(y +2)7=2016
y+z=288

Substituting the value of v + = in eq (7i), then

288
x =22 =48
6

(14)
According to Question

RatPat+ M — 7 (Given)
11

Multiply both side by 2.
2yt 2na 4 4 2044 — 14

11
. The new average = 14
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(16)

Let the weight of Q be x kg.

~ According to Question

45 x3-(365x2-x)-(52%x2-x%) =X
=>x=42kg

a7
New average = (5x650+1400)/(5+1)
=4650/6 = 775

(18)

Let his average after 15 matches be x
~ ATQ

(15x + 81)/16 =x + 3

= 15x + 81 = 16x + 48

=x =33

=~ Avg after 16 matches = 36

(19)

Numbers between 11 and 80 which are divisible by 6
are 12, 18........78. this forms an AP

T.=a+(n-17d

78=12+(n-1)

n=12

sum = n/2 [first term + last term]

= 12/2 [12 + 78] = 540

Avg. of numbers = 540/12 = 45

20

(Le)t the four consecutive odd numbers be
(x-2), % (x+2), 6x+4)

ATQ
(jx—2)+x+{f+2),{jx+4} .
= x = 63

~» Largest number = 63 + 4 = 67

(21

Sum of 8 consecutive natural numbers = 8 x 38.5
=308

~n/2[2a+(n-1)d] =308

=8/2[2a+ (8-1)1] =308 =a =35

~ the largest number is 42.

(23)

Average marks = 40 x 25 = 1000
But wrongly entered = 73

So, correct marks = 37
Difference = 73 — 37 = 36
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Correct average = 1000-36/40 = 24.1 Runs to be made in last 10 overs = 241 - 192 = 49
runs.

(24) Required run rate = 49/10 = 4.9 runs/over.
Required value of Q
= (47 x 3) —[47 x 3-65] + [47 x 3 -97] (33)

= 141-[76 + 44] Let the four-consecutive numbers are (x - 4), (x - 2), %, (X + |

= 141-120 = 21 ATQ ““””*"j"“"f"”" = 40

25) i:-c_ ;'T— 160

We know that, —
A+B+C=49x3=147___ (i) ~ Thelargestno. = (x + 2) = 43
A+B=35x2=70 _ (i
B+C=62x2=124 (iii) (35)
From eqn. (i), (ii), & (iii)
B = 47 k. New Average=
C=77kg. 4+1

A=23kg. =1400

(26)
Total runs made till first 40 overs = 40 x 4.8 = 192
runs.

4x12504+2000
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